
 

cg';"rL–% 
j8fj6f ;+rfng ul/g] of]hgfx? 

 
j8f g+= %, sfe|f, /f]Nkf 

1. cfly{s ljsf; 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 ef]sf/f] ;'wf/ / cg'bfg sfo{qmd  j8f g+= % 150,000 

2 e]6g/L, ;DaGwL cf}iflw vl/b  j8f g+= % 100,000 

3 
kmnkm"n t/sf/L tyf ljp ljhg vl/b / pTs[i6 
s[ifsnfO{ k'/:sf/  j8f g+= % 250,000 

hDdf 500,000 

 

2. ;fdflhs ljsf; 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 pbo cfef/e"t ljbBfno 3]/fjf/ of]hgf  j8f g+= %, l/emf 150,000 

2 l;Dn]gL jf= lj= s]= kmlgr/ vl/b  j8f g+= %, sfe|f 100,000 

3 a/fxIf]q jf= lj= s]]= 3]/fjf/ of]hgf  j8f g+= %, SjflnufFp 100,000 

4 ufFp3/ lSnlgs SjflnufFp sd{rf/L Joo:yfkg  j8f g+= %, SjflnufFp 200,000 

5 v]ns"b / ;'lgn :d[lt lbj;  j8f g+= % 150,000 

6 dlxnf :j+od ;]ljsf k|f]T;fxg eQf  j8f g+= %  35,000 

७ nlIft ju{     

7.1 dlxnf lx+;f Go"lgs/0f  j8f g+= %  50,000 

7.2 blnt hg r]tgf d"ns tflnd  j8f g+= %  70,000 

7.3 ckfË 8f6f ;+sng sfo{qmd  j8f g+= %  30,000 

7.4 hghftLx?sf] nflu jw :yn lgdf{0f  j8f g+= %  150,000 

hDdf 1,035,000 

 

3. k"jf{wf/ ljsf; 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 
km;f{rf}/ sfe|f, dG3f, SjflnufFp xb}+ ns;df/] 
;'lgn dfu{ hf]8|g] df]= af= dd{t of]hgf  j8f g+= % 600,000 

2 bnªuf, sfe|f, dG3f df]= af= dd{t of]hgf  j8f g+= % 350,000 

3 
sflnkf]v/f, 3f]/G6] j8f sfof{no hf]8\g] df]= af= 
of]hgf  j8f g+= % 600,000 

4 SjflnufFp, j/fxyfg df]= af= of]hgf  j8f g+= % 500,000 

5 sflnkf]v/f l/emf df]= af= of]hgf  j8f g+= %, 600,000 

6 l/l3d a'l4af; l;+rfO{ of]hgf  j8f g+= %, 100,000 



 

7 sf6\g] vf]nf 3/af/L v]]t l;+rfO{ of]hgf  j8f g+= % 200,000 

8 rGb|Hof]lt jf= lj= s] ejg dd{t of]hgf   j8f g+= %, l/emf, n''+u|L 100,000 

9 jfnaf]]w cfwf/e"t vf= kf= 3]/fjf/ lg/Gt/tf  j8f g+= %, sfe|f 250,000 

10 
lhjgf]4jf/ cfef/e"t ljBfno 9f]sf kNnf dd{t 
of]hgf  j8f g+= %, dG3f 150,000 

11 
;"of]{bo cfwf/e't ljBfno 9n lgsf; / 3]/fjf/ 
of]hgf  j8f g+= %, SjflnufFp 350,000 

12 ufFp3/ lSnlgs 9nfg tyf kmlg{r/ vl/b  j8f g+= %, l/emf 100,000 

13 ufFp3/ lSnlgs kmlg{r/ vl/b / knf:6/  j8f g+= %, sfe|f 100,000 

14 ufFp3/ lSnlgs kmlg{r/ vl/b / 9nfg  j8f g+= %, dG3f 100,000 

15 l/l3d SjflnufFp vf= kf= dd{t of]hgf  j8f g+= %, SjflnufFp 450,000 

16 lvgjfª pOemf vf]nf /ftfdf6f vf= kf= of]hgf   j8f g+= %, dG3f 150,000 

17 y'd vf= kf= of]hgf  j8f g+= %, 190,000 

18 /f]sf 8f/f 6fs'/f vf]nf jfpg6fn vf= kf= of]hgf   j8f g+= %, sfe|f 150,000 

19 ;]jf/ rfgfjfª vf= kf= of]hgf   j8f g+= %, l/emf 250,000 

20 5fk vf]nf lsldrf}/ vf= kf= of]hgf  j8f g+= %, lsldrf}/ 175,000 

21 l;Dn]gL vf= kf= kfO{k vl/b of]hgf  j8f g+= %, l;Dn]gL 100,000 

hDdf  5,565,000 

 

4. jftfj/0f tyf ljkb Joj:yfkg 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 SjflnufFp nls{jfª klx/f] lgoGq0f  j8f g+= %, SjflnufFp 100,000 

2 ljkb\ Joj:yfkg sf]if  j8f g+= % 100,000 

hDdf 200,000 

 

5. ;+:yfut ljsf; ;]jf k|efx / ;'zf;g 

qm ;+ cfof]hgf÷sfo{qmdsf] gfd cfof]hgf ;+rfng x'g] :yfg ljlgof]lht /sd 

1 n]vf k|0fnL ;DalGw Joj:yfkg sfo{qmd  j8f g+= % 300,000 

2 
hg k|ltlglw, pkef]Qmf ;ldltsf kbflwsf/L, 
sd{rf/Lx?nfO{ Ifdtf ljsf; tflnd sfo{qmd  j8f g+= %  100,000 

3 k+lhs/0f tyf dfnkf]t sfo{qmd  j8f g+= %  75,000 

4 sfof{no Joj:yfkg tyf ;+:yfut ljsf;  j8f g+= %  150,000 

5 
;fdflhs ;+3 ;+:yf ;dfh;]jL k'/:s[t 
cGt/lqmof  j8f g+= %  75,000 

hDdf 700,000 

;a} hDdf j8f g+ % 8,000,000 

 




